0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
&]XGDU OLKi\ /DIRVQp
&=e=6, .l +yQDS DIl &VRSRUN EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
6DVDGL ~ 5
+8  %8"$3(67 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
YplpY 1$( @WIHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
6THPPINHV plipNHIpY 1$¢ P——
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
wC 6Dl (WD ~XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_UTHIpY
6liIXV]
+DYLIHIHVIIPpQ\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
3267%,05( $( *: * *5%: (
3267$,05( $C  *$: > *5% = (
)7. 3,72 eStRiSDU. . If $C $(&$) $(*21
)7. 3,72 eStRiSDU. . Ii 3 $&$) $(*21
7$7$9,% .1 $C &) $(C<21
7$7$ 9.6 .1l 3 (&%) $(*21
YRUDRP ,, +8)
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
%HUPQ\L &JXGDU
&=8"$5 O,+E/<1le $(  *$: * *5g = (
ODIVL &VDED il
*RI &RPSNH . Ii $C $(&$) $(*21
*RI &RPSNHU _ Ii 3 $(&$) $(*21
3DIDIL —yJVHI
9$5-0 9(521,.% $(  *m: o* *5% = (
9$5-0 9(521,.% $C  *$:z * *5% = (

QVVIHVEIHIN pUipN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

&]XGDU OLK i\ /DIRVQp



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~II

JRIDIRP , (85

$IQV] .IWG|S  6]HUJEGE (I\VpJ  7ISXV  7DWID  7DUDP %]l ~XIDIpN
YRUIDIRP ,, (85

$IHQV] .IWIGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %JNIiWV -XIDIpN

gVVIHVEIHI pUipN

$] HIV]i PRITVVDI NDSFVRIDIRV UHNIDP i FLyNDI NpUil N tUiVEDQ D] HV] i PRIV Np]KH]YplHIpl |0 V] i PRI

KpliHQ EH) 0 D] O,& WRGIEDQ (HDGQL

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

&]XGDU OLK i\ /DIRVQp



